VSA VIDYA SHREE ACADEMY
b i SR. SEC. SCHOOL

An English Medium Co.Ed. School | Science & Commerce

103:%3 s 'i‘, W : www.vsajaipur.com | E :vsajaipur@gmail.com M. :+91 9460356652, 8058999828
i ,7 Add. : 84, Krishna Vihar, Behind Narayan Niwas, Gopalpura Bypass, Jaipur - 302015

E /vsajaipur | EJ /vsajaipur | @ /vidyashreeacademy | @/vsa_jaipur

Pre Primary wing of VSA

Subject: Maths Class:8 Topic: Ch.6 Algebraic Expressions

Watch video #19, and solve the following exercise:

EXERCISE 6.5 d

Use Cordova Smart Class Software on the smart board in class lo do Exercise,

valuate each of the following using appropriate identities :

) (xy + D) (i) (' - by
) (x-4f (i) (4 + 5
L Use suitable identity to find each of the following products :
t3)(x +5) ) (Bx=7)@x-7) (1) (0= c)(-a+c)

:. Y | N l ) 2 3 ) 2 3 ] ' 2 ™~ a) -
N i | E ) |=m+=n||=m-- V) (X +IY) (X =
| ( [3 : £3 2n (1) (2x+3y) (2x - dy)

. Use the identity (x +) (v +6) ="+ (2 + b + ab to find the following products
(x+4)(x +3) (i) (v +5y) (Bx + 29) () (2x+3)(2+5)

+d)@r+7) (@) (@+3) (a +5h) . () (7x+ 9)(7x + 8)
4 Simplify the following expressions :
) (x-17-(x-1y (1) (bx +3) (6x - 3)
(2m = 3n) (2m + 3n) + (2m + 3n)’ (1) (4a + 5b) (40 + 75) - (30 + 4b) (30 + 60
5 lfa+b =100, ab=48 find the value of a + b,

6 lfa+h=9ab=4 find the value of  + I
7. lfa-b=57+b=49 find the value of ab.
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If x + . 5, find the value of ' + i
. 1
¥

) 1 !
If v - N =3, find the values of ¥ + —1; and x' + -]—

X S
Find the continued product :
() @+D)@E-1)E+1) (i)
Given that x - y = 8, xy = 5, find the value of ¥* + v
Using identities, evaluate the following :
() (81)° (i) (198y
(iv) (7.25)* - (2.75) () (5.6) - (4.4)
Find the value of each of the following :

176 x176 - 124 x 124 324 x 324 - 276 x 276
1 1i)
52 48

1
If x* + <o =27, find the value of x - —.
2 X

Find the value of p in each of the following :

(2m = 3)(2m + 3) (4m’ + 9)

(iii) 165 x 155

(iii) (12.9) - (7.1

i ]
16x* + 257 + 40xy, when x = e

(i) 3p=(28)" - (23)° (il)  7p= (25 x 25) - (24 x 24)
1 1
If x* + — =19, find the value of x - —.
X
Find the value of each of the following expressions :
1 2 4
(i) 36x* + 49y + 84xy, when x = ayrs (if)
Show that :
2 2 B
(i) (4ab + 3cd)” ~ (4ab - 3cd)” _ abed (i)

48

(7pqr - 5)* - (Zpqr +5)° P

-35
(par +1) = (pgr - 1)?

91| —



